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Syllabus

The Question papers for the Examination shall be based on a common syllabus notified by the CBSE for class 11th & 12th.

Exam Pattern
Subject 
Group Subjects No. of Questions Type of Questions

PCM Physics, Chemistry & Mathematics Physics - 50
Chemistry - 50
Mathematics - 50

Objective Type  
(four options with single correct answer)
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1 : 
1. T S 

` 25 ` 35 
4 : 6 

` 37 

(A) 20% (B) 33%

(C) 25% (D) 38%

2.
1

1
1

x
y

x
y

 

(A) –1 (B) 1

(C) 2 (D) 0

3.
2

2
( 5) ( 7 10)
( 3) ( 10 25)

x x x
x x x  

(A)
2
3

x
x (B)

2
3

x
x

(C)
5
3

x
x (D)

3
5

x
x

4.
45° 

60° 10 

(A) 23.56 (B) 23.66 

(C) 23.60 (D) 23.80 

5.  2x2 – 3x + 1 = 0 


(A) 8 (B) 9

(C)
8
9 (D)

9
8

6. 225 x  = x – 1 

(A) 3 (B) 4

(C)
1
3 (D)

1
4

7. 15 12 
90 

(A) 1 (B) 2 
(C) 1.5 (D) 2.5 

8. y2/3 – 2y1/3 = 15 

(A) 25, 27 (B) 27. –125

(C) 125, – 27 (D) 25, –27

9. sin = 
1 ,
2  3 sin2 – 4 sin3 .

cos 

(A)
1
2 (B)

1
2

(C)
3
2 (D)

1
2

10. 3% 2%
3% 

5%  
3
4

(A) 3 : 5 (B) 3 : 7
(C) 7 : 3 (D) 3 : 4

11. tan A = 
1
3  tan B = 3  

cos A cos B – sin A sin B 

(A) 0 (B) 1

(C)
1
2 (D)

3
2

12. cos 5° . cos 10° . cos 15° ... cos 100° 

(A) 1 (B) 0

(C) –1 (D)
1
2

13. sin x  = 1, 
2tan
3
x

 

(A)
1
3 (B)

1
2

(C) 3 (D) 3

14. tan (A + B) = 3  cos (A– B)

= 
3

2
 A  B 

(A) 60°, 30° (B) 45°, 15°

(C) 40°, 20° (D) 15°, 30°

15. 15 
45° 6 

(A) 9 (B) 12 

(C) 10 (D) 6 
16. 8 

25  

4 
(A) 25 (B) 27
(C) 26 (D) 24

17. ABC AB = 8 BC = 15 
AC = 17 

(A) 120° (B) 60°

(C) 100° (D) 90°

18.

(A) (B)

(C) (D)

19. x2 – 9x x2  – 2x – 3 

(A) (x – 3)

(B) (x + 3)
(C) x (x + 1)

(D) x (x + 3) (x – 3) (x + 1)

20. (x2 – 1) ax3– b (x + 1) 
(x – 1) a b 

(A) a = b (B) a = 2b

(C) 2a = b (D)
21. 72 

1
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(A) 1196 (B) 1296
(C) 1331 (D) 1276

23.

(A)
5

16 (B)
3

16

(C)
3
8 (D)

1
4

24. mx2 + 3x  + 2 = 0 x 

2 
1
2  m 

(A) 1 (B) –2

(C)
1
2 (D) –1

25.
5 

(A) 5 (B)  15 
(C) 10 (D)  12 

26. 14 

9
8

14  

(A) 7 (B) 11 
(C) 22 (D) 9 

27. 2
2

9 4y
x

 

(A)
12x

y (B)
6y
x

(C)
12y

x (D)
6x
y

28. P(2) = 0, P(x) 
(A) x + 2 (B) x – 2
(C) x (D) 2x

29. 2x3 + 3x2 – 4x + k, (x – 2) 
k 

(A) –20 (B) 20
(C) 0 (D) 1

30. 3, 10, 10, 4, 7, 10, 5 

(A)
49
7 (B)

19
7

(C)
50
7 (D)

18
7

31. 1 : 5 : 12  

(A) 45° (B) 60°
(C) 120° (D) 90°

32. 5x + 15° 
4x – 6° 
(A) 110°, 70°
(B) 100°, 80°
(C) 95°, 85°
(D) 120° 60°

33. 5
1log

125  

(A) 5 (B) 3
(C) –3 (D) 0

34. log 2 = 0.3010, log 25 

(A) 1.6020 (B) 1.3010

(C) 1.6990 (D) 1.3980

35. 9 
(Variance)

(A) 18 (B) 27

(C) 81 (D) 36

36.
14 3 7log log log
15 25 9  

(A) 0 (B) 2
(C) 1 (D) 3

37. ABC 11
60 

(A) 71 (B) 61
(C) 22 (D) 60

38.
2/5 
(A) 30°, 60° (B) 15°75°
(C) 9°, 81° (D) 12°, 78°

39. 100
6 

(A) 12 
(B) 8 
(C) 7 
(D) 16 

40. ABCA 

A

B

C

V

N17  

7  17  

(A) 217 2 (B) 147 2

(C) 224 2 (D) 59.5 2

41. QR 
(PS = 12 PQ = 8 

R
N

B
Q

P

S

O

(A) 8 (B) 5 
(C) 4 (D) 10 

42.

(A) (B)
(C) (D)

43.
4 

(A) 12 (B) 8 
(C) 16 (D) 32 

44.
(–2, 10) (12, – 4) 

(A) (5, 3) (B) (10, 6)
(C) (14, 5) (D) (3, 6)

45. (8, 5) (–3, –7) 
x- 

(A)  5 : 7 (B)  3 : 4
(C)  6 : 7 (D)  8 : 3

46. P = (2, – 1) Q  = (k, 1) PQ

= 2 2  k 
(A) 8 (B) 4

(C) 2 (D) 2 2
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47. (1, 4), (3, –2) (k, 1) 
k 

(A) 3 (B) 0
(C) –2 (D) 2

48. (a, c + a), (a, c ) 
(–a, c – a ) 
(A) c2 

(B) ac
(C) (c2 – a2)  

(D) a2 

49.
1
4  75

(A) 60 (B) 50
(C) 30 (D) 20

50. sin + cos (90° + + sin (180° – ) + sin
(180°  + 
(A) 1 (B) 0

(C)
1
2 (D) –1

2 : 
51.

(A)
(B)
(C)
(D)

52.

(A) (B)
(C) (D)

53. FeCl3 + H2O + X  FeCl2 +
H2SO4 + HCl X
(A) S (B) H2S
(C) SO2 (D) SO3

54. Li

(A) Na (B) K
(C) Al (D) Mg

55.
(A)
(B)
(C) (A) (B) 
(D)

56. 90Th234 -

(A) 93Pa230 (B) 91Pa234

(C) 90Pa234 (D) 90Pa231

57. 10.6 500 Na2CO3

(A) 0.2 M (B) 2 M

(C) 20 M (D) 0.02 M

58.
‘CO2

(A)
(B)
(C)

(D)

59. pH
(A) 7 (B) 7
(C) 7 (D) 0

60.
(A)
(B)
(C)
(D)

61. CaSO4
Ca = 40, S = 32,

O = 16)
(A) 136 (B) 116
(C) 68 (D) 88

62.
(A) 2FeCl2 + Cl2  2FeCl3
(B) H2S + H2O2  S + 2H2O
(C) 2CH3OH + O2  2HCHO + 2H2O
(D)

63.
(A) (MgCl2)
(B) (NaCl)
(C) (CaO)
(D) (C2H6)

64.

C = 52.17%; H = 13.06%, O = 34.77%
46

[C = 12, H = 1, O = 16]
(A) CH3CHO (B) C2H5OH
(C) CH3COOH (D) HCHO

65.

(A)
(B)
(C)
(D)

66.

(A)  -
(B)  -
(C)  - -
(D)   -

67. -

(A)  > 
(B)  = 
(C)  > 
(D) 

68.

(A)
(B)

(C)
(D)

69.
76.47%, 61.78%

51.68%
(A)
(B)
(C)
(D)

70.

(A)
(B)
(C)
(D)

71.
(A)
(B)
(C)
(D)

72.
(A)
(B)
(C)

(D)
73.

(A) Cu 80%, Sn 20%
(B) Cu 85%, Sn 13%, P 2%
(C) Cu 95%, Sn 4%, P 1%
(D) Cu 88%, Sn 12%



74.
(A) C—C (B) C—H
(C) CN (D) C—O

75.

(A)
(B) n-

(C) n-
(D)

76.

(A) (B)
(C) (D)

77. HCl

(A) CH3CH2Cl (B) CH3CHCl2
(C) CHCl = CHCl (D) CH2 = CHCl

78.
(A) CO2 PH3
(B)
(C)
(D)

79.

(A) CH4 (B) CHCl3
(C) CH2Cl2 (D) CCl4

80. 23
11 Na

(A) 11 (B) 12

(C) 23 (D) 12

81.

(A) (B)
(C) (D) 

82.

(A)
(B)
(C)
(D)

(A) (B)

(C) (D)

84.

HCl 

(A) O2 (B) N2

(C) NH3 (D) CO2

85. S 

= 25 
= 53 

S = 30 
(A) 16.66 (B) 21.7 
(C) 30 (D) 5 

86. CH4 O2 25°C 

O2 
(A) 1/2 (B) 273/596
(C) 1/3 (D) 2/3

AlCl3 Cl2 

(A)

(B)

(C)

(D)

88.

(A) 0 5 (B) 0 005

(C) 0 05 (D) 5

89. 150 

87 

(A) 62 (B) 64 

(C) 29 (D) 63 
90 M 

(A) s, p d (B) s, p, d f

(C) s (D) s p

91 Ra 1600 
Ra 0.125

Ra 

(A) 1600 (B) 3200
(C) 4800 (D) 800

92.

(A) (B)

(C) (D) 

93. M ZnSO4

0.5 M 1.1 Zn 
Zn 33 

(A) 15 (B) 16
(C) 14 (D)

94. Mg =
9.76%, S = 13.01%, O = 26.01%, H2O =
51.22%

[Mg = 24, S = 32, O = 16, H = 1]
(A) MgSO4.7H2O
(B) MgSO3.6H2O
(C) MgNO2.3H2O
(D) MgCO2.6H2O

95.

(A)

(B)

(C)

(D)
96. KMnO4 

(A) + 7 (B) + 4
(C) + 5 (D) + 6

97.

(A) (B)

(C) (D) 
98. 35Cl 37Cl

75.53% 
24.47% 
34.969 amu 36.966 amu 

(A) 35.46 amu
(B) 37.48 amu
(C) 40.00 amu
(D) 12.49 amu

99. 25°C 360

60 
10 

(A) 180 (B) 360 

(C) 24 (D) 60 

100. 25 (H2O) 
pH _______

(A) 8 (B) 7

(C) 9 (D) 6
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3 : 
101. 3 × 108 1.5

(A) 1.5 × 108

(B) 2 × 108

(C) 1 × 108

(D) 2.5 × 108

102.
(A) (B)
(C) (D)

103.

(A) (B)
(C) (D)

104.
(A) (B)
(C) (D)

105. 12 60

(A) 0.4 (B) 12
(C) 2.5 (D) 5

106.
(A) °C (B) m-°C–1

(C) °C–1 (D) m-°C

107.
-

(A)
(B)

(C)
(D)

108. 3

(A) 6 (B) 3
(C) 1.5 (D) 9

109.

(A)
(B)
(C)
(D)

110. 200
20

(A) 60 (B) 85
(C) 70 (D) 6/6

111. 150 1.5
60

(A) 10.5 (B) 6 
(C) 0.6 (D)

112.

(A)
(B)
(C)
(D)

113.  A B

     A B

2 

2 

(A) 2 (B) 1
(C) 1.5 (D) 2.5

114. 2 12
3.5

(A) 5041 (B) 5040
(C) 4050 (D) 4500

115. 90
30

(A) 2.22
(B) 4.45
(C) 2.22
(D) 4.45

116.

(A)

v

t

(B)

v

t

(C)

v

t

(D)

v

t

117. 500 36
50

(A) 1500 N (B) 1000 N
(C) 750 N (D) 500 N

118. 160 400

(A) 1 2 (B) 10 2

(C) 100 2 (D) 1 2

119. 990

330 
(A) 3
(B) 3
(C) 9
(D) 9

120.
(A) (B)
(C) (D)

121.

(A) 4 (B) 3
(C) 2 (D) 8

122.

(A) 90° (B) 180°
(C) 45° (D) 0°

123. 600 30°C 80°C

 = 1
°C)

(A) 3000 (B) 30000
(C) 4000 (D)

124.

(A) (B)
(C) (D)

125.

30°

v

(A) v/2 (B) 3 /2v

(C) / 3v (D)
126. 60 4

100  5

(A) 0.5
(B) 1.0
(C) 1.5
(D) 2.0



127. 44 × 10–8

1 1

(A) 1.2 (B) 0.58
(C) 0.48 (D) 0.64

128.

(A)

(B)

(C)

(D)

129. 0.9

(A) 1/9 (B) 8/9
(C) 2/3 (D) 9/10

130. 4

(A) (B)
(C) (D)

131 10–15

25 

(A) 10–15 (B) 25 × 10–15

(C) 25 × 109 (D) 25 × 10–9

132. 1.5 

6 

4 
(A) 3 (B) 4 
(C) 6 (D) 4.8 

_____ 

(A) 1/4 

(B) 4 

(C)
(D)

134.

(A) 1/8 (B) 1/4

(C) 1/6 (D) 1/10
135 0.2 

0.3 

(A) 2 : 3 (B) 3 : 2
(C) 4 : 9 (D) 8 : 27

136.
(A)

(B)

(C)
(D)

137. 10 
35 

(A) 8 (B) 14 
(C) 21 (D) 12.2 

138 288.5
0.03 

10.5 
1 × 103 3 

3 

(A) 25 × 10–3 (B) 2.5 × 10–3

(C) 12.5 × 10–3 (D) 50 × 10–3

139 40 12 
28

12 

(A) 20 (B) 30 

(C) 40 (D) 50 

(A)
(B)
(C)
(D)

141. 100°C 473°C

(A) 2 (B) 16 

(C) 8 (D) 81 

142 80

60 

(A) 20 

(B) 40 

(C) 100 

(D) 140 

143.

(A)
(B)
(C)
(D)

144. 30

(A) 64 (B) 54
(C) 86 (D) 72

145. 5 

15 

(A) + 2 (B) – 2
(C) – 1/2 (D) + 1/2

146.

(A)
(B)
(C)
(D)

147. 30 
10 

(A) 30 (B) 10 

(C) 20 (D) 50 

148.

(A)
(B)
(C)
(D)

149 77°C 227°C

(A) 3 : 5 (B) 7 : 5
(C) 3 : 10 (D) 7 : 10

150

(A) 80°C (B) 40°C
(C) 140°C (D) 160°C
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1. (A) T = 25 × 4
  = ` 100

S = 35 × 6
  = ` 210

= ` 310
= 37 × 10 = `

370

P % = 100

        = 
370 – 310 100

310

3700 – 3100
31 = P%

600
31 = P%

P% = 19.35%
P% = 20% 

2. (D)
1

1
1

x
y

x
y

 = 1

x y
y

y x
y

= 1
( )
x y
x y

= 1 – 1 = 0

3. (A)
2

2
( 5) ( 7 10)
( 3)( 10 25)

x x x
x x x

= 
5 2 5
5 5 5

x x x
x x x  = 

2
3

x
x



4. (B)
A 

E 

B C 

D 

60º 45º 

(  – 10)  h

45º 

60º 

h  

10  10  

x  

 ADE tan 45º = 
– 10h
x

 x = h – 10

ABC tan 60º = 
h
x  = – 10

h
h

  3 – 10h = h

 3 – 10 3h =  h

  3 – 1h = 10 3   h = 
10 3

3 – 1

  5 3 3 1h 

 h = 15 + 8.66

 h = 23.66 

5. (D) 2x2 – 3x + 1 = 0

 ,  

 ( + )= – b
a

  +  = 
3
2

... (1)

 ( + )2 = 
9
4

 2 + 2 + 2 = 
9
4 ... (2)

(·) = 
c
a

  .  = 
1
2 ... (3)

 2 + 2 + 2 × 
1
2 = 

9
4  (2)

 2 + 2 = 
9 – 1
4 = 

5
4

3 + 3 = ( + ) (2 + 2 – )

= 
3 5 1–
2 4 2
 
 
 

 = 
3 5 – 2
2 4
 
 
 

= 
3 3
2 4
  = 

9
8

6. (B) 225 – x  = x – 1

 25 – x2 = (x – 1)2

 25 – x2 = x2 + 1 – 2x
 2x2 – 2x – 24 = 0
 x2 – x – 12 = 0
 x2 – 4x + 3x – 12 = 0
 x (x – 4) + 3 (x – 4) = 0
 (x – 4) (x + 3) = 0
 x = 4, x  – 3
 x = 4

7. (C) = x 

12 + 2x  

15 + 2x  

x
  

15 

12  

x x
x

x x
x

x



= (15 + 2x) 
= (12 + 2x) 

= 

90 = (12 + 2x) × (15 + 2x) – 15 × 12
 90 + 180 = 2 (x + 6) (2x + 15)


270
2  = 2x2 + 15x + 12x + 90

 2x2 + 27x – 45 = 0
 (x + 15) (2x – 3) = 0

 x  – 15, x = 
3
2

= 
3
2  = 1.5 

8. (C)
2 1
3 3– 2y y  = 15

x = 
1
3y   x2 – 2x – 15 = 0
x2 – 5x + 3x – 15 = 0

x (x – 5) + 3 (x – 5) = 0
(x – 5) (x + 3) = 0

x = 5 
1
3y  = 5  y = 125,

x = – 3 
1
3y = – 3  y = (– 3)3

= – 27
125, – 27

9. (A) sin  = 
1
2   = 45°

 cos  = 
1
2

 3 sin2  – 4 sin3 · cos 

= 
2 31 1 13 – 4 ·

2 2 2
     
     
     

= 
41 13 – 4

2 2
   
 

 = 
3 1– 4
2 4



= 
3 – 1
2  = 

1
2



10. (C)  = x
  = y

 x  3% + y  2%

= 
3

[ 3% 5%]
4

x y

3 2
100 100

x y

= 
3 3 5
4 100 100

x y

3 2 4
100 100

x y
= 

3 53
100 100

x y

12 8
100 100

x y
= 

9 15
100 100

x y

12 9
100 100

x x
= 

15 8
100 100

y y

3
100

x
= 

7
100

y

x
y = 

7
3

x : y = 7 : 3

11. (A) tan A = 
1 ,
3

tan A = tan30°
A = 30°

tan B = 3
tan B = tan 60°
B = 60°

B
1

3
 

 cos A · cos B – sin A · sin B
cos 30°. cos 60° – sin 30°. sin 60°

= 
3 1 1 3· – ·

2 2 2 2
 = 0

12. (B) cos 5º. cos 10º. cos 15° ... cos 10º
= cos 5º. cos 10°. cos 15º ...
cos 90º · cos 95º · cos 100º = 0

[ cos 90º = 0]
13. (D) sin x = 1  sin x = sin 90º  x = 90º

2tan
3
x

 = 
2 90ºtan

3


 = tan 60º = 3

14. (B) tan (A + B) = 3
 tan (A + B) = tan 60º
 A + B = 60º ...(i)

cos (A – B) =
3

2
 cos (A – B) = cos 30º
 A – B = 30º ...(ii)

(i) (ii) 
A = 45º, B = 15º

15. (A) = 6 

15  

A B

C
45º 

45º 

= x 

= 


6 1000
60 60

  =  

x
t   

50
30

t  = x


5
3

t = x

 ABC tan 45º = 
15
x   1 = 

15
x

  x = 15


5
3

t  = 15

 t =
1 5 3

5


= 9 

16. (A) = x 

= (25 + x)

8 
= 4

25 ×
8
60 = (25 + x) ×

4
60

50  = 25 + x
x  = 25 

17. (D)

A B

C

15  17  

8  

AC2 = AB2 + BC2

 (17)2 = (15)2 + (8)2  289 = 289

90º 

18. (D)

(Centroid) 
19. (D) x3 – 9x = x (x2 – 9) = x (x2 – 32)

= x (x + 3) (x – 3)
x2 – 2x – 3 = x2 – 3x + x – 3

= x (x – 3) + 1 (x – 3)
= (x – 3) (x + 1)

  = x (x + 3) (x – 3) (x + 1)
20. (B) x2 – 1 = (x + 1) (x – 1)

ax3 – b (x + 1) = ax3 – bx – b
x – 1 
x – 1 = 0  x = 1 
0= a(1) – b(1) – b  0 = a – 2b

 a = 2b
21. (B) 72 

1, 3, 5, 7, ...... 71

 a = 1,  
   d = (3 – 1) = 2

Tn = a + (n – 1)d
 71 = 1 + (n – 1) × 2

 (n – 1) = 
70
2

 = 35

  n = (35 + 1) = 36
 n 

=  
2
n a l

= 
36
2

(1 + 71)

= (18 × 72) = 1296

'n'
= n2

n =
72
2

= 36

 1 71 

= (36)2 = 1296

S
X

n

n

1 1

2 2

2 –1
2

2 –1
2

n a n d

n a n d

2 1
1

n
n


1 1

2 2

–1 ·
2
–1 ·
2

na d

na d

2 1
1

n
n
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10

10

T
X

1 1

2 2

9
9

a d
a d

–1
2

n


10

10

T
X

2 1
1

n
n

38 1
19 1

39
20



23. (D) 4 
= 8

= 1
2 

= 2
2 

= 
2
8  = 

1
4

24. (B) mx2 + 3x + 2 = 0
x = 2, 

m(2)2 + 3 × 2 + 2 = 0
 4m = – 8
 m = – 2

x = 
1– ,
2  

21 1– 3 – 2
2 2

m       
   

= 0


3– 2

4 2
m

 = 0


1

4 2
m
 = 0

 m = 
1– 4
2
  = 2

25. (B) = 34 π
3

r

= 4r2

34 π
3

r = 5 × 4r2

3
r

 = 5 r = 15 

26. (C) = 22 

27. (C) = 2
2 4a y

x


 
2

23 32 2 2y y
x x

      
 

23 2y
x

   
 

3 2y
x

 

12y
x



28. (B) p(2) = 0
p(x) = x – 2 

29. (A) 2x3 + 3x2 – 4x + k
x = 2 

2 (2)3 + 3 (2)2 – 4 (2) + k = 0
 16 + 12 – 8 + k = 0
k = – 20

30. (D) 3, 10, 10, 4, 7, 10, 5

= 

(Mean)

= 
3 10 10 4 7 10 5

7

= 
49
7

(Mean deviation)

= 
N

1

M X
N

i

i

= 

7 3 7 10 7 10 7 4
7 7 7 10 7 5

7

     =
4 3 3 3 0 3 2

7

     = 
18
7

31. (C)
1 + 5 + 12  180°
18  180°

12 
180 12
18



= 120°
= 120°

32. (A)  = 180°
 5x + 15 + 4x – 6 = 180°

9x + 9 = 180°
9x = 171
x = 19

 = (5x + 15, 4x – 6)
= (110°, 70°)

33. (C) log5 = 
1

125
 
 
 

= log5 (125)–1

= log5 (5)–3

= –3 log55 – 3
34. (D) log 2 = 0.3010

 log 25 = log 100
4

= log 100 – log 4
= 2 – 0.6020
= 1.3980

35. (C)  = 2

= (9)2 =  81

36. (C)
14 3 7log – log – log
15 25 9

=
7 2 3 7log – log – log
3 5 5 5 3 3

= log 7 + log 2 – log 3 – log 5 – log 3
log 5 + log 5 – log 7 + log 3 + log 3

= log 2 + log 5 = log10 10 = 1

37. (D) = 
60
2  = 30 

= 2r = 2 × 30
= 60 

38. (C) A B 
A + B = 90º ...(i)

A – B = 
2
5


= 
2 180º

5


A – B = 72º ...(ii)
(i) (ii) A = 81º B = 9º

39. (D)

A B

O

M

6  

 = r2

100  =  × r2  r = 10 
 AOM AO2 = AM2 + OM2

 (10)2 = AM2 + (6)2

 AM 2 = 100 – 36 = 64
 A M = 8

AB = 2 × AM = 2 × 8 = 16 



40. (B)

10 
 

7  
7  

A

B

C

V

N
17  

= 
2

2
r

 =  27
2

  = 

22 7 7
2 7

= 77 
 AVN 

= 
1
2  × × 

= 
1 7 10
2
   = 35 

 CVN = 35 


= 77 + 35 + 35
= 147 

41. (D) PS = 12 PQ = 8 QR = ?

(PS)2 = PQ × PR
(12)2 = 8 × (8 + QR)

144
8 = 8 + QR

 18 – 8 = QR
 QR = 10 

42. (B)

43. (C)

x

4 x

= × 

 64 = 4x × x  16 = x2  x = 4

 = 4x = 16 

44. (A)

O(–2, 10) A B (12, –4)

=
– 2 12 10 – 4,

2 2
 

 
 

=
10 6,
2 2

 
 
 

= (5, 3)

45. (A)

A(8, 5) ( , h k) B(–3, –7)
m m1   2:

AB m1 : m2 
(h, k) 

h = 
1 2 2 1

1 2

m x m x
m m

k = 
1 2 2 1

1 2

m y m y
m m




X- y = 0 k = 0 

0 = 
   1 2

1 2

– 7 5m m
m m

 


 – 7m1 + 5m2 = 0


1

2

m
m = 

5
7

 m1 : m2 = 5 : 7

46. (B)      PQ =    2 2
1 2 1 2– –x x y y

2 2 =    2 22 – – 1 – 1k 

2 2 =  22 – 4k 

8 = (2 – k)2 + 4
 (2 – k)2 = 4
 (2 – k) = + 2

2 – k = – 2

 k = 4

47. (D)  (1, 4), (3, – 2) (k, 1) 

 = 0

 0 = 
1
2 [x1(y2 – y3) + x2(y3 – y1)

+ x3(y1 – y2)]

 0 = 
1
2 [1(– 2 – 1) + 3 (1 – 4) + k

(4 + 2)]

 0 = 
1
2 (– 3 – 9 + 6k) = – 6 + 3k

 3k = 6
 k = 2

48. (D) (a, c + a), (a, c) 
(– a, c – a) 

= 
1
2 [a{c – (c – a)} + a{(c – a)

– {(c + a)} – a {(c + a) – c}]

= 
1
2 [a(c – c + a) a(c – a – c – a)

– a(c + a – c)]

= 
1
2 [a2 – 2a2 – a2] = 

1
2 [a2 – 3a2]

= – a2 (–ve )

 = a2 

49. (A) = x

4
xx  = 75  

4
4

x x
 = 75

 5x 75 × 4

 x = 
300
5  = 60

50. (B) sin  + cos (90° + ) + sin (180º – ) +
sin (180º + )

= sin  – sin  + sin  – sin  = 0

51. (C)

52. (A)

pH 3.8 4.4

53. (C) SO2

S
(+4)



  |

2FeCl3 + 2H2O + SO2  2FeCl2
X

+ H2SO4 + 2HCl

54. (D)

Li

Na    Mg    Al

K

Li

K

Mg, Li
Li

55. (C)

56. (B) -

= 90 + 1 = 91

= 234

 91Pa234

57. (A)
10.6 1000
106 500

           = 0.2 M
58. (B) 

CO2

 1887

(mole fraction)



1801

 (Ohm’s Law)

59. (B) pH 7

60. (A)
(NH4Cl) 

NH3 + HCl  NH4Cl
61. (C) CaSO4 = Ca

+ S + 4 × O

= 40 + 32 + 4 × 16
= 40 + 32 + 64 = 136

= 

Ca2+ = + 2 2
4SO

= – 2
CaSO4

136
68

2
62. (D)

(a) 2FeCl  + Cl   2FeCl2 2 3
+2 0 +3 –1

(b) H S + H O   S + 2H O22 2 2

+1 –2 +1 –1 0 –2

(c)



(d)

2FeCl  + H S   2FeCl  + 2HCl + S2 3 2 2
0

63. (D) MgCl2, NaCl CaO

C2H6 C H

                    

HH

HH

HH

C C•
•

•
•

•
•

••

••

• •

• •

64. (B)

C 52.17 12
4.34
2.17

52.17
12

= 2= 4.34

H 13.06 1
13.06
2.17
= 6

13.06
1

=13.06

O 34.77 16
2.17
2.17
= 1

34.77
16

=2.17
C2H6O

= 2 × 12 + 1 × 6
+ 1 × 16 = 46

= 46

    n = 

46 1
46

= (C2H6O)n
                                    = C2H6O

C2H5OH

65. (D)

66. (A)
-

-

67. (B) -



68. (C)
p p+

69. (A)

I. 76.47% 23.53%
II. 61.78% 38.22%
III. 51.68% 48.32%

 I 

76.47 = 23.53

 100

23.53 100
76.46

= 30.7

II

 61.78 = 38.22

 100

38.22 100
61.78 = 61.8

III

 51.68 = 48.32

 100

48.32 100
51.68 = 93.5

= 30.7 : 61.8 : 93.5 = 1 : 2 : 3

70. (C)

(1H1), 
(1H2)  (1H3),

71. (D) (Al2O3)

72. (A)

73. (D) (Cu)
5-12% (Sn)

74. (C)

C N
75. (A)

76. (D)

77. (B) 2CH CH HCl CH

HCl
3 2CHCl CH CHCl

78. (C) COCl2

79. (D)

80. (D) =A – Z = 23 – 11
                         = 12

81. (D) 

2 5 96 5







82. (D)

(A)

84. (B) 3Mg + N2  Mg3N2,

Mg3N2 + 6H2O  3Mg(OH)2
+ 2NH3

85. (B) = 53 – 25
= 28 
= 30–25
= 5 
= 28 – 5
= 23 

= × 100

= 
5 100

23  = 21.7

1
2

(C) AlCl3 

C6H6 + Cl2  C6H5Cl + HCl

88. (D) 









10 10
10 15



5

89. (D)

= 

  

+ CO2

150 = x + 87 

x = 150 – 87
x = 63

= 63 

90. (A) M 

s, p d 

91. (C) t1/2 = 1600 

mo = 1 m = 0.125

= n

 m = mo × 
1
2

n
 
 
 

 0.125 = 1 × 
1
2

n
 
 
 
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
125
1000 = 

1
2

n
 
 
 


1
8 = 

1
2

n
 
 
 

  
31

2
 
 
 

 = 
1
2

n
 
 
 

 n = 3
= × n
= 1600 × 3 = 4800 

92. (A) 



40







93. (A)
M

Z

W
W n

= 
M

Z

E
E n


0.5
1.1 = ME

33

 EM = 
0.5 33

1.1


 = 15

95. (D) 



96. (A) KMnO4 = K+ + Mnx + 4O– –

=1 + x + 4 ×(–2) = 0

 x = 7  Mn = +7 

97. (C) 

NaCl, MgCl2

98. (A)

= 
75.53 34.969 24.47 36.966

100
  

 = 35.46 amu


1

1

P
n

p
n 

1

10
p 360

60



100. (B) 250C pH 7 
pH (Potemtoal of Hydrogen) 

1936 
pH 

(1 - 7 (7 -
14) 

7 pH 

101. (B)

8
83 10 2 10

1.5
102. (A)

103. (A)
1
2

×  × 2

           K = 21
2

mv

= 2m

2
v

21K 2
2 2

vm


2 21K K

4 2 2
mv mv


K

K
2

104. (B)
105. (D) P = Vi  P = Vi

 60 = 12 × i  i = 
60
12

   i = 5
106. (C) °C–1

94. (A)

 

Mg 9.76 24
9.76
24  = 0.406

0.406
0.406  = 1  1

S 13.01 32
13.01

32  = 0.406  
0.406
0.406  = 1 1

O 26.01 16
26.01

16  = 1.625
1.625
0.406  = 4 4

H2O 51.22 18
51.22

18  = 2.846
2.846
0.406  = 7 7

= MgSO4.7H2O



107. (D) 









 2r
 V = r2

108. (A) = 2v = 2 × 3
= 6

109. (C) 

1 3 5 3



1 2 3
110. (A)

20
u = – 20

v2 = u2 + 2gh
            = (– 20)2 + 2 × 10 × 200
            = 60

111. (C)
150 × u + 1.5 × 60 = 0

               150u + 90 = 0

              u = 
90

150
= – 0.6

112. (B)

113. (B) A B

2 

2 

2 2


1 1 1
1 1

2 2
R

R

114. (B) t = 2 = 2 × 60 = 120
V = 12
i = 3.5

= Vit = 12 × 3.5 × 120
                 = 5040

115. (A) u = – 90   v = – 30 

1 1 1
f v u


1 1 1

90 30f


1 1 3

90f


1 2 45

90
f

f

100 100P 2.22
45f

116. (A)
(A)

a = 0

117. (B)
2 500 100F 1000 N

50
mv

r

118. (D)
2 2(400) 160000

160 160
v

a
r

            = 1000 = 1 2

119. (B)
990 3
330

dt
v

120. (A)

121. (A)
F
A

p

2F F
4A A

2

p p

                4p p
122. (B) R2 = P2 + Q2 + 2PQ cos 

      0 = 2P2 + 2P2 cos 
[ P = Q]  cos  = – 1

  = 180°
123. (B) Q = m × s × t

= 600 × 1 × (80 – 30)
= 600 × 50 = 30000

124. (B)

2 2 21
( )

2
m a y

(y) = (a)

 2 21
( ) 0

2
m a a

125. (C) v1

t

A

O

B

v

v1

3
0
°

AB AOtan 30 AB
AO 3

             v1 = / 3v
126. (D)

60 2 4 100 3 5
1000 1000

= 0.48 + 1.50 = 1.98  2

127. (B)
L

R
A

L = 1  = 44 × 10–8

      
1
2

r 31
10

2

2 322 1
10

7 2
A r

   622 1 10
7 4

2

 R 
8

6

44 10 1 44 7 4
22 1 22 10010
7 4

                               = 0.56

128. (B)

129. (D)

= 


90.9 0.9V V

V 10
x x

9
10

130. (B) m 
v 

21
K

2
mv

p mv

 21K ( )
2

mv
m   21K (P)

2m

 2 Km

2 4K 2m p
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131. (C) 25 =
25

1000  

= 
25

1000 1000  

= 25 × 10–6

 = 
–6

–15
25 10

10


          = 25 × 109

132 (A)
E

R r
= 

V

R


6
R 1.5 = 

4

R
 R = 3

(A) (KE)

= 21
2

mv

 K·E = 21
2

mv

  K E – 21
2

mr

V = /2 

KE =  
2

21 1 1
2 4 4 2

 
v

m mv

1/4 

134. (C) 
1/6

×

mg
mg/6

/6
1/6 × 6

135. (C)  
 

 

22
1 1

2 2
2 2

0·2
0·3

l a
l a
  = 

4
9

  I1 : I2 = 4 : 9

136. (D)

137. (C) = 10 
= 35 



v = 35 
1 1 1
v u f

1 1 1
35 10u


1

u
 = 

1

35
– 

1

10
=

2– 7

70
=  – 

1

14
u  = – 14 

= 35 – 14
= 21 

 

 3
288.5

10.5 10

 




(C)

141 (B)
2

1

E

E = 

4

2

1

T

T
 = 

4
473 273

100 273





 
 
 

= 

4
746

373
 = (2)4 = 16

 E2 = 16 × E1 i.e. 16 
142. (C)

90°
= (802 + 602) = 100

143. (A)

144. (B)  0 32
100

212



100

180

1 8
32

F = (1.8 × C) + 32

F = 9/5C


30

= 30 × 9/5
= 54

145. (B)

 I = + 2
(i) I = 2 × O, u = – 5 

I
O

v
u


2× O

O = – 5
v

 v = – 10
1 1 1–
v u f


1 1 1–

– 10 – 5 f



1 1 1 1–

5 10 10f
    f  = 10 

(ii) u = – 15 f = + 10 m = ?
1 1 1–

–15 10v
  

1 1 1 1–
10 15 30v

 

 v = 30, m = 
u
v  = 

30
– 15 = – 2

146. (C) 



1911









1

147. (C)

AI1 O2 O1
I2

 AO1 = 30 O1I1
= 30 

10 
O2 I2

AO2= O2I2 = 40 O1I1 =
50 

 = O1I2 – O1I1 = 50
– 30 = 20 

148. (A) 

(space)

10 14 104

149. (D) 1

2

E

E
 = 1

2

T

T
=

77 273

227 273
 = 

350

500
=

7

10

     E1 : E2 = 7 : 10

150 (D)
C
5 = 

F 32
9


 
2 32

5 9
x x 


 x = 160°C

(Hz) (m)

1. < 109 > 0.3

2. 109 – 3 × 1011 0.001 – 0.3

3. 3 × 1011 – 3.9 × 1014 7.6 × 10–7 – 0.001

4. 3.9 × 1014 – 7.9 × 1014 3.8 × 10–7 – 7.6 × 10–7

5. 7.9 × 1014 – 3.4 × 1016 8 × 10–9 – 3.8 × 10–7

6. X- 3.4 × 1016 – 5 × 1019 6 × 10–12 – 8 × 10–9

7. > 5 × 1019 < 6 × 10–12
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